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PART—A ®§>\’ 3x10=30

Instructions : (1) Answer all questi&rﬁz‘

(2) Each question ries three marks.

1. Resol N(&Q/
. Resolve O,
4

1
(x = 3) (x @53“

into partial &r&fions.

Y

2. If &
%’ 1 2 4 -1
A= and B =
Vel -2 3 3 2
Elen find the value of 3A + 5B.

3. If o is the cube root of unity, then evaluate

o 1

1032

4. Show that tan75° — tan 30° —tan 75°tan 30° =1.
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5. Show that
cotA —-tan A
cotA+tan A

=Ccos2A

6. Find the conjugate of (2 + 5i)(—4 + 6i).

7. Find the point of intersection of the straight lines VQ

3x+4y+6=0and 6x+5y-9=0 §“

)
&
8. Find the intercepts made by the straight line 2x + \3)1:1{: 6=0o0n
the coordinate axes. <<9~
\/\/
\'s
9. Evaluate : \/V
1 -cos x3 >Q
xlio sin 6”

Q
y o

10. Find % ify:\/;—secxi(&x.

&

S PART—B 10x5=50

Instructions : (1) Answer any five questions.

@2) Each question carries ten marks.

11. (a)?T§
\ed 1 -1 0 4 1 0
A=|2 1 3 |and B=|2 -3 1
4 1 8 1 1 -1

then find (AB)T .

(b) Solve the following equations by Cramer’s rule :

x+2y-z=-3,3x+y+z=4and x-y+2z=6
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12.

13.

14.

15.

16.

17.

18.

(a) Show that sin A + sin (120° + A) + sin (120° - A) =

(b) Show that
tan 11 + tan~! 2+ tan !3=n

(a) Solve sin76 + sin406 + sin 6 = 0.

(b) In a AABC, if @ - b , then show that AABC is an<2

cosA cosB

isosceles. g,\

(a) Find the equation of the circle with (-5,1) and (3 ) as end
points of a diameter. QE

(b) Find the equation of the rectangular hyper whose focus is
the point (-1, — 3) and directrix is the 11n Xx+y+1=

(@) Find the derivative of log (1 + tan~ wa r.t. x.

dy d2y
b) If x = a(6 — sin 6) and a(l + then find == and —=
(b) ( ) y=al @ﬁg; z

2°
é\ dx
Cg\ 2 aQu

(@) 1f u=x3+ y3 —3my,~(§k{gn show that Tu

X +e 00 timesQ

(b) 1f y = X< <, then find dy
2

dxdy dy dx

(@) Find thg .equations of tangent and normal to the curve
y = x2\-2x - 3 at the point (0, — 3).

(b) T%ue displacement s of a particle is given at any time t by the
{relation s = 2t3 —~15¢ + 36t - 70. Find its (i) initial velocity and

el (ii) time when velocity is O.

(a) Find the maximum and minimum values of
2x3 —6x% ~18x + 21.

(b) The radius of a spherical balloon is increased by 1%. Find the
approximate percentage increase in its surface area.
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